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Whom among the followine, does the jurisdiction of the CVC does not extend to?

(a) Any employee in a General Insurance company.
(b) An officer of the rank of Scale V1 in Bank of India.
(c) An officer in Grad D in SIDBI.

(d) The Senior Divisional Manager in LIC.

ol 2ol Hiell 8l Yual Actbcll sEatetetl w512 Astul vl «2ll?
(a)eirel Bl SuUsll ol Sle uel saadl
(b) ols 205 Sl3aetl 51 6ol sauall wRsil
(c) Rsoll alt 35 Sl ol wu@s13)
(d) e 208 Ul ol cldrs Qewalla dawes

Consider the following statements:

I~ The Montagu-Chelmsford Reforms proposed the gradual introduction of self-governing
institutions in India.

2. Members of the Indian National Congress welcomed the reforms and believed that it paved the
path to ultimate self-government.

Which of the statements given above is/are correct?

(a) 1 only

(b) 2 only

(c) Both 1 & 2

(d) Neither 1 nor 2

ol Aell cllgll Ayl

1. H{29g- 251§ YURARAA el sUal: reau@ct dizeiall A 5clle] Y2,
z.elzcllal 00l SlPuel el YuREAA wiastal wua Wetal clzeud A
Yl alsidatall 1ol daz 523l
2loal [dseu uxe 52l
a)s5d 1
b} &5l
c) 1 cl&l 2

(
(
(
(d) A Hizll Asue A2l

Which amongst the following is/are brought out by the Publication Division?
1. India
2, Bharat
| 3. Mass Media in India
| Select the correct Code:

(a) 1 Only (b) 1 and 2 Only (c)land3Only (d)1,2and3
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ol Aetiniell 52)/5200 Ysialel Qo sl usiBld saumi 2« 82
180321 (India)

2. Mz d({Bharat)

3. B2 ga 832y (Mass Media in India)

allAetl Higll Aol [@Aseu urie 53l

(a)§5c 1

(b) §5c1 1 ual 2

(c) §5c 1 wal 3

(d) 1, 2 via 3

Which of these statements is true regarding the procedure for the amendment of the Constitution?

(2) The bill for amendment must be passed in either House by more than 50 percent of the total
membership of the House and a majority of two-thirds of the members of the House present and
voling. :
(b) The bill cannot be introduced by a private member of the House. It can only be introduced by
a minmster,

(c) Once the bill for amendment is passed by both Houses and ratified by the State legislature, it
is presented to the President for assent, who can return the bill for reconsideration.

(d) A bill cannot be introduced in a State legislature for the purpose of amendment of the
Constitution,

ollAot Hiell 5 salat olzellal Yeulell uBaua deel di we B2
(a)YuiRlell RSl SlBuBL djgall set deaurivalell 50% 2l dY el slyz U M WAL
dealledl Gl-cjfdatial el ugudl ol v 8 AsA.
(b) WS J6ail (Aet-u2513] e iRl 2% DA o A NSA. A 55 1Al a2l % 2o 8de
aldl A,
(c)uls cllz YuRlell WSl oA 243 alrl UMIR Wal A% [@Qtllel 98 gl2L 13l U2l tlE
gulAell M@ 2 29 sral WA B FA Al yeot: Q226U W2 R Wscll 9k B.
(d) cleunzillel Yeul 2 wrstel AL (Aot 3jeHl 2% 53] atstdl «tell.

The “Lighting a Billion Lives” initiative, which garnered the use of solar powered lanterns in rural
areas was initiated by?

l
(a) Efficient Lighting Initiative(ELI)

(b) Inter Governmental Panel on Climate Chanpe(IPCC)
(c) Bureau of Energy Efficiency(BEE)

(d) The Energy & Resources Institute(TERI)
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el “Lighting a Billion Lives” UBE, 312 [Qrcllz i ARG wtuBd sleiuedl sz uled Bl Gl U7
(a)3(3Elz cusdlol sREEA )
(b) B2z aldrec Ustet et sclilstle As(Ipce)
(r) 6212) 3l s Wlated 2d(Reaiallineey |

Consider the following statements.
(1) In the Himalayan Region the Kashmr & Kullu Valleys are fertile regions.

(2) Jelep La & Nathu La passes are the main trade routes in the Indo-Tibet region through Chumbi
valley,

Which of the statements given above is/are correct?

(a) 1 only

(b) 2 only

(c) Both 1 & 2

(d) Neither 1 nor 2

ol Aol sl Al

1. [Buea utaul stedle wa s wllol sogu uisl 8
| 2. HAU Al Wl oy cl de ellRrd-[dae il Yol vllel disll uaz adl Hacdstl durHal
|' D,
Guzlsd salell ofl Yealcl 2usiEl
(a)%5cl 1
(b) &5l
(c) 1 e 2
(d) ol Hiall Wsuwl =gl

Acid rain is caused by the emissions of compounds of which of the following?

(a) Sulphur

(b) Ammonium

(c) Nitrogen

(d) All of the above

UEs azle ol Hizll sai ueisdal Gl 5120 Az B2
(a)HEs?
(b) BHAuH
(c) slleseleral
(d) GUset oltil
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Consider the following statements:

1. On August 7, 2010, a collision between two merchant vessels caused an oil spill in Indian
walers.

2. The incident took place off the coast of Goa.
3. The two merchants vessels were MSC Chitra and Khalijia-111.

Which of the above statements is/are correct?

(2) Only 1

(b) Only 2 & 3
(¢) Only 3

(d) Only 1 & 3

| oAt sl duRl

1 720122,2010 ol 2% A Auldl sl a2l wasiiel adi eldlad dys 1 Aet yale,
2.l odailel Jlall oil [Beil? o2l sl
3. d ol dwdl et msc @A U wARal-i .

GuRlsd sl =l deidl asiEl.
EEEG R
(b) 35l 2 ua 3
(c) 55¢c1 3
(d) §5cL 1 Wel 3

Which among the following are included under the UNESCO’s Intangible Cultural Hentage List?

(1) Kuttivattam
(2) Vedic Chants
(3) Ram Lila

{4) Chhau Dance

Select the correct answer from the codes given below:
' (a) 1 &2 only

| (b) 1,2 and 3 only

(c) 1.2 and 4 only

(d) 1,2.3 and 4

A LYage 4 ol 43
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o(ldell Hiell sl UNESCO Ul Intangible Cultural Heritage List Hi (A 897
1. sl2atgn

2.dls HA/ Ul

3. 2dcllen

4, 813 ot

el el Hizll 2lloat [Aseu ude 530,

(a)55cl 1 val 2

(b) 85c 1, 2 via 3

(c) $5cl 1, 2 el 4

(d) 1,2, 3 % 4

10

. Consider the following statements:

1. The Narmada nver flows from the east to the west, draining into the Arabian Sea.

2. The Godavari river originates near Trimbak in Nashik District of Maharashtra state and flows
east across the Deccan Plateau into the Bay of Bengal.

Which of the above statements 1s/are correct?

(a) 1 Only
(b) 2 Only
(¢) Both1 &2
(d) Neither 1 nor 2
ol 2sil s8lell dAulzl.
Letdetel ydell WEln ds ad B ual vRH AR HA 8.

2. 20e1a3] o€l Halaie AUAl AR Freciol =ics WAl st

B el evaglell Gyt gl yd dry wéla couns(l widla ua 8.

Gulsd il /sl saell A B7
()35l 1
(b} &5

() 1 cl2ll 2

(d) oA Higll Bsuil =8l
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11

The weed Jatropha is considered the main source of biofuel in India. Consider the following crops:

. Maize
Sugarcane

Cassava

e B oo

Sorghum
Which of these crops is/are used to develop biofuel?

(a) 1 & 3 only

| (b) 2 & 4 only
(¢} 1,23 &4

(d) 1.2 & 4 only

Gl ML Falu(Rdatw2llcd)al s dueel Yual Blld d2l5 awelaHl 2 8.
ol Tell WS LulHL
1. HsLe
2. 2l
3. s¥lall
4. el
Gulsd Hiall s/ sl us wds duel oeigdl guRiel 87
(a)§5cl 1 el 3
(b) 5t 2 ol 4
| (c) 1,2.3 wial 4
(d) 55cl 1, 2 il 4

12

Consider the following statements.

(1) The Consutution of India now provides dual eitizenship for Whole of India.

(2) The Citizenship Act, 1955 deals with matters relating to acquisition, determination
and termination of Indian Citizenship.

Which of the statements given above isfare correct?

(a) I only

| (b)) 2 only

(c)Both1 &2

‘ (d) Neither 1 nor 2

A Page 6 of 43
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all el sl il
(1) Rdlal oiizel 63 Aygl elrd M2 A <ialBsc Y3 ud B,
(2) ellolRscel 51218l 1955 A ellrcdla iR s ot uRaten,RAuldlszol A vid
odlolcdl #18l Az 8.
GuRlsd saell ofl deicl usEl
(a)55c 1
(b} &5
c) 1 & 2
)

|
(d) ot Hiall Asu 18

13

- Through which of the following countries does the Tropic of Cancer pass?

1. Egypt
2. Bangladesh

3. Mexico

4. Indonesia

(a) 1 & 2 Only

(b) 1,2 & 3 Only

(€) 2,3 & 4 Only

(d) 3 & 4 Only

ol Aetl Hiell 2l EelHiell sfgc vz e &7

1. 8@
2. ullocigal
3. AR5
4. 5lallsla

(a)%5c 1 wlal 2
(b) &5cl 1, 2 ol 3
(c) §5c 2,3 wiel 4
(d) §5cl 3 Wel 4
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Which of the following articles of the Constitution cannot be or removed even by an amendment of the
Constitution?

(a) Article 32 — Right to Constitutional Remedies
(b) Article 19 — The 6 Fundamental Rights
(c) Article 14 — Equality before the Law and Equal Protection of the Laws

(d) Article 21 — Freedom of Person

| o3t Higll citl20iell Sell waf2BE oltilzeHl YRl scll el A vl g2 521 usidl «iell?
(a)ule]2ibe-32 cllzellal Selldl wiEsiz

(b) woj2BE-1¢, 9 Hneqd A (dsil

() WofAVE-T¥, SAEL UHAL MMUolcll el SLAEL of MMl 81

(d) vlojade-29, clbdall 2eldaldl

Match List-1 with List-II and select the correct answer {rom the codes given below.

List-I List-1I
(Institutes) (Locations)
- A. National Institute of Agricultural Marketing 1. Hyderabad
B. Central Institute of Horticulture 2. New Delhi
(. National Plant Protection Traiming Institute 3. Jaipur
1. Indian Agriculturai Kesearch Institute 4, Medziphema
Codes
A B C D
a) 3 4 1 2
(b)y 3 1 4 2
) 4 3 2 1
(dy 4 2 3 |
YR A YR-2 WE YAldd s
Y1 (zizaud) y[Rl-2 (2euet)
As3laid Blzee vy Allseuz Hisell 1.8ERIGLE
B.igc Bleaye s sllEscr 2. ocll [Ecdl
| C. slglalcel elie Ulzsalet 2ellol SRRay2 3, YR
| D. Bl VElscuz ual dheaye 4. AeallFm
A B € D
(a) 3 4 I 2
b 3 1 4 2
c) 4 3 2 1
(d) 4 2 3 1
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16

Consider these tributaries of the Indus River system:

1. The river Jhelum rises from a spring at Verinag in the south-eastern part of the valley of
Kashmir in India. :

!:-J

The Bori originates near the Rohtang Pass and runs past Manali and Kulu.,
| 3. The Sutlej originates at Lake Rakshastal in Tibet.

Which of the above statements are correct?

(a) 1 &2
(b)1&3
() 2&3
(d)1,2 &3
[y etélell ustats gl uz [Qaz s3l.
1. BEU ole]l atzdell stodlz vl efde-ydui wae dilsial pael wdell Gend &,
2. ollZl Asdiol wiz WAl Geatcdl Haell ma seuiall waz wa 8.
3, Ade [dzell Asudlel ¥2lazuiel Geold B.
GulscHisll sl saell dal B2
(a}1 2ial 2
(b) 1 sl 3
(c) 2 @il 3
(d) 1, 2 % 3

17

Consider the following statements:

1. The territorial jurisdiction of the Supreme Court and the High Court is the same as far as the

issuing of writs is concerned.

2. The writ jurisdiction of the Supreme Court is wider than that of the High Court.
A

Which of the statements given above is/are false?

(a) 1 Only
(b) 2 Only
(c}) Both 1 & 2

(d) Neither 1 nor 2

A. Page 9 of 43
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(Aol clgel Ll
1. 3z wHEAH Ysalloll dloidHl GradH ilae va G «2l21E2L
ol UiE(als wEsaA yHl B
2. Gudy llalcas] eef wEsaA 3 Gl 2ll2udal 5240 Qe 8,

GURscl Higl s2i/sall selel UL B?

18

(a) §5cl 1
(b) 35¢12
()1 el 2
(d) ol Hiell Rsuel o8l
Which of the following pairs is correctly matched?
1. Fringing Reefs : Andaman & Nicobar Islands
2. Platform Reefs : Lakshadweep Islands
3. Atoll Reefs : Gulf of Kutch
Select the correct answer from the codes given below:
(a) 2 only
(b) 1 only
(c) 1 & 2 only
(d) 3 only -
all el Higll sl Flssl Ao 2ld «lside 87
1.[531 Js : (e Hiet el FElotz Guuygs
2.z 5 Ay : clalglu ([guuys
3,318 {ls : s29ell Wil

oAl Aeil Higll 2l [Aseu ude 52,
(2)55cL 20 (b) 551 10 (c) $5cl 1 ¥al 20 (d) $5ct 3

19

Match List I with List IT and select the correct answer using the code given below the lists:
Last-I{National Park & Wildlife Sanctuary) List-TI{ Animal)

A. Gir Forest National Park & Wildlife Sanctuary 1. Himalayan Musk Deer

B. Kedarnath Wildlife Sanctuary 2. Great One Horned Rhinoceroses
C. National Chambal Sanctuary 3. Ghanal
D. Kaziranga National Park 4. Lion
A B C D
(ay 1 2 4 3
4 1 3 2
)2 4 1 3
dy3 1 2 4

A . Page 10 of 43
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YR A YRE-2 WA YA 53

HR-1 (Rl Gellel ol clod ol wealRERL) Y-z (well)
B. 5120118l dle2| o vleAR! 2.Helol g [latstull olsl
C. gl UniE weal@®l 3.uldaue
D. stoflzall 20l Galet 4R
A B CD
(@ 1 2 4 3
b 4 13 2
ey 2 4 1 3
d) 3 1 2 4
20 | To get recognised as a national party, a political party should satisfy all the conditions given below,
except.
(a) If in any state, it wins 1 seal in the Lok Sabha for every 25 seats or any fraction thereof allotted to
that state at a general election to the Lok Sabha.
(b) If it wins two per cent of the seats in the Lok Sabha at a general election and its elections are
elected from three states.
(c) If it is recognized as a state party in four states,
(d) If 1t secures six per cent of valid votes in any four or more states at a general election to the Lok
Sabha or to the Legislative Assembly and also wins four scats in the Lok Sabha from any state or
states.
el e 313 yrellld aal W2, sl e AlAl 2Rdl ygl sadll ud, wul vudlezy 5o 872
(a)l B8 A%l o dlsdelsll €35 2u clesHiall 1 clgs W Wl dlsual =l A Yzalui
d 2%2Ua slocaid] vde desell slos @l Wd.
(b) %l a AlsMettsll Met 2zallul 2 das wd wa Yzellzll 2oL Al 2l Ade slal,
(c) %l o 2wl el d2ls 22 2A%lHl Wwaulld add sla
(d) % Al clsuel vadl Quistiets] sl 2zelul yuged Udlel 5% HAC 82l vt uidl |
21wl /2%l dlsuelsll ¥ dss wda sl
21 |Consider the following statements, - N

(1) NCC was established under The NCC Act,1958.

(2) NCC motto is “Unity & Discipline™,

(3) The total sanctioned strength of NCC cadets is 20 lacs.

(4) There is a Central Advisory Committee for the NCC to provide overall policy guidelines.

Which of the following statement is/are correct?
(a) 1 & 3 only
(b) 2 & 3 only
(¢) 2,3 and 4
(d) 2 & 4 only

A. Page 11 of' 43
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oll el cllgll il

(1) NCColl 2@UUsll NCC 5121611958 Bsm e B,

(2) NCC ol Yaldw “Blsdl ua Bl .

(3) Nee 532el set Hoydl WRe 2ual 20 ciw B,

(4) nee o acdauel <A [Quas Holedst dEa aassz wB[ Yz wd 8.

Buzlsct s8ell ofl dcldl usil,
(a)55cl 1 2al 3
(b) §5cl 2 a3
(c) 2,3 vlal 4
(d) $5cl2 2lal 4

22

What 1s the average life expectancy at birth for Indians in 20107

(a) 66.8
(b} 70.1
(c) 64.7
(d) 76.0

o] 2010H1L elRclelle] oot AHA HrAA WUAAA 2L 32 B2
(8) 66.8
(b) 70.1
(¢) 64.7
(d) 76.0

23

Which of these statements is true according to the Ministry of Power's updated Mega Power Project
Policy?

(a) A thermal power plant having a minimum capacity of 1200 MW or more is eligible for the
benefit of mega power policy.

(b) A hydel power plant in Tripura and having a minimum capacity of 500 MW or more is cligible for
the benefit of mega power policy,

(¢) A mega power project has Lo tie up power supply to the distribution companies/utilities through
long term PPAs.

(d) To get mega power status, the plant has to mandatorily engage in inter-state sale of power.
oAl Hizll 52 saet [@Qge Hataell et Aol uldr URse <[ 2 de 87

(a)ctidlaulAgd Has 3 Bofl aydn aMdl 1200 Mw viaal dall dy Sl & Dow waz o[ &l ca
Haelall Gl s34l

(b) Byl of sn(Ayd Hals 2 Rofl Ay &Ml S00Mw wacl Ael ay A A Do wa «AR
oAl dle Haeldl cials 524,

(c) Holl WetR Ywse (Ayatt yaue W2 [Aars susllal uslolel 28 alewonoisit Ry wile
52121 (PPAs) SRal US4l

(d) Holl uld? £3% ﬂ,{EELC{L Hiz Had g2A(Raldull wid-2A%2 [Qeyd A28l srq usil

A. Page 12 of 43




CSSC-RS-11-LP

24

Which of the following is not a cattle breed?
(a) Gir

(b) Kankrej

(c) Shyama Cari

(d) Hariana
ofl Aol il 58 Alzell yn(Q =tell?

(a)oll?

(b) 5l5°%

(c) 22 stdl
(d) &lFauwu

25

(Consider 2011 census data)

List-I{State)

A Haryana

B. Kerala

C. Bihar

D. Maharashtra

A B
(a) 1 2
by 4 1
(c) 4 1
2

C
4
3
2
(dy 3 4

—'mmw,:

YE-1 A YRz w8 YAAA 53,
YR-1(R0%L)

= ERTE

B.52LCL
clisl?
D.UERIS

A B € D

(@ 1 2 4 3

by 4 1 3 2

B & 1 2 N3

@ 3 2 4 1

List-1I{Sex-Ratio)

1. 877
2. 1084
3. 925
4. 916

Y-z ([Fot-wepulet)

1.877
2.1084
925
4.916

Match List I with List IT and select the correct answer using the code given below the lists.

Page 13 of 43
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26

Consider the following countries:

1. Croatia
2. Czech Rep

3. Latvia
Which of the above is/are member/members of NATO?

(a) 1 Only
(b) 1 &2 Only
(c) 2 & 3 Only
(d)1,2&3
oflAotl Tell rRuAUL AL
1, glalfslal
z. As uleas
3.
Gulsdd Higll w2/l NATO =il Hed Hel 87
(a)§5cl 1
(b) $5cl 1 wal 2
(c) $5cl 2 Ul 3
(d) 1,2 Blal 3

27

Consider the following statements.

(1) Press Trust of India is a partner in Asia Plus International , a Singapore registered Company.
(2) It is formed by PTI and five other Asian Media Orgamsations to provide an online Data bank on
i social development in Asian Countries. '

Which of the following statement is/are correct?

(a) 1 only

(b) 2 only

(¢) Both1 & 2

(d) Neither 1 nor 2

ol Aotl cllsell Ul

1. Qa2 Wl 6RBa(rTI) A RoudlR ofl A28 Suell AR e Bealastd i
ewallerz B,

2. doll 2eUUeil PTT 2l el Ui DRt A2 2UMUs Rt gzl BUlatet el ol

| dHURs [Rsia 12 vlletctdet 32t ds Yy usal ydd 8.
Guzlsd satel ol Ucelcl usl.

(a)$5cl 10 (b) 5l 20 {c) 1 <2l 20 (d) ol Hiell Bsus «iel

A. Page 14 of 43
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28

OAPEC is a founding member of which of the following institutes?
(a) Oxford Institute for Energy Studies
(b) Institute of Energy Studies
(¢) Energy Studies Institute

(d) Centre for Energy Studies

0APEC o{lAatl uigll 58 raus] 2Us Mo B7?
(a)ulls28l8 Beoirdlege 512 el 22810

(b) Betzdlazie wlls Detodl w281

(c) Aax] sl Betrdleye

(d) Aoz F12 el 228B

29

Consider the following pairs.

List-I (Organisation) List-II(Location of Head Quarters)
1. Bank for International Settlements Basel, Switzerland
2. Commonwealth Secretariat (feneva, Switzerland

3. Intermational Committee of the Marlborough House,London

Red Cross
Which of the above pairs is/are correctly matched?

(a) 1 Only
(b) 2 Only
(c) 3 Only
(d) 1,2 & 3
sl Aell YR qural
HR-1 (RiRa) HRl-2(qual Has of )
1. ols 52 S2raslele dadHe AU, RAzmeds
2. BlHeidea Azdlule BRa, Eexds
3. deraaeic s s u yiclald s1Gy,clset
25 5y

Guzlsc Higl 58 YRL/YRERA 2ol Ad yuldd 87
(a)&5cl 10{b) %5 20(c) %5 30(d) 1,2 2= 3

A
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30

Exercise Milap was the joint exercise between India and
(a) Botswana
(b} Russia
(c) Bangladesh
(d) France

AeAR Hetlu A e W ol 5200 B9l WA ol 22ysel Bo2Uy B?
(a)ollealeil

(b) =@l

(c) vliocitg sl

(d) st¥

31

Who among the following was one of the four Goodwill Ambassadors appointed by FAO on World
Food Day 20107

(a) Susan Sarandon  (b) Pierre Cardin  (¢) Fanny Lu  (d) Carl Lewis

alldstiiell Sl Qe e Ram 2010 i Ao via wA 5R Hpal st AEX Wile A2 Heatdsl
AwEd Higfl A5 &2

(a)YHlet ARetslat (b) Ratdl siZ

(c) 3l ¢ (d) stel s

32

Consider the following statements:

I.  Per Capita income of a country is its total national income divided by the total population of
that country.

lI.  Per Capita Income of a country is its Gross Domestic product (GDP) divided by the working
population of that country,

Which of the above statements is/are correct?

|
(a) I Only

(b) TT Only

(¢) Both T & II

(d) Neither I nor IT
ollAoil sUA AUl

1. el Hiangls was A sat Al was wuR A 2ol 56 woiziveladl ewouse Sal B

2. Aol HlaEls vias A A Areeil USH U Grulest wal A Agoll sl sl wetzivayl
MLaILELR &lal B,

Gurlsd Hisll s/ wu saell Al B?
(a)%5cl 1 (b) $5cl 2
(c) 1 el 2 (d) ot Higll Asual il
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33 | Match List-I with List-1[ and select the correct answer from the codes given below.
List- 1 List-11
(Biosphere Reserves) (Locations)

A. Nilgiri 1. Orissa
B. Gulf of Mannar 2. Tamil Nadu Kerala & Kamataka
C. Simlipal 3. Madhya Pradesh
D. Achanakmar 4. Tamil Nadu
Codes
A B C D
(a) 2 4 3 |
by 4 2 3 1
c) 2 4 1 3
(dy 4 2 1 3
HR-1 A YRz wd YRAEAA 3L
YR (FauREA 8 HE-2(22ULet)
a. allea(ld] REEL]
B. Hl? oIl vuld 2. dctaus, baial sules
c. Auldwa 3. M2z
D. W AUALEHIZ -4, dllctailg
A B C D
(a) 2 4 3 1
(b) 4 2 3 1
) 2 4 1 3
(d) 4 2 1 3
34 | Consider the following statements:

1. WHO responds to the challenges it faces using a six-point agenda which addresses two health
objectives, two strategic needs and two operational approaches.

2. WHO’s Constitution came into force on 7 April 1948,

Which of the statement/s given above 1s/are correct?
(a) 1 Only
(b) 2 Only
(c) Both 1 & 2
(d) Neither 1 nor 2

lAsil 52l il
1.0 wloe 2zl deil ussAA s-le sty szl uldBa 2 8, BHl o wiRloucel, d
c2jpleds vl A [Baucall wlelon 8.
2. [Aa 23102 drale oluizel 7 Bl0det, 1948 ol 2o vHEHL v,
BURscl Hiadl fl/su el UL 87

(a)s5c 10 (b) 5l 200 (c) 1 el 20 (d) e Higll Psue =18l
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Consider the following statements:

I The first passenger train in India ran between Kolkata (formerly Calcutta) and Chennai
(formerly Madras).

II.  The East India Company’s first factory in India was astabiishcﬁ at Machilipatnam.
Which of the above statements isfare correct?
(a) I Omnly
(b} 1T Only

(c) Bothl & II

(d)Neither I nor I1

ol Al Halell AW
I ellReloll Yan s 2ot Sletsidi(sestl) wa Ao (a) d2dl dsaail el adl
2.6%2 8321 Sueflofl auacmi yan 3529l uy@ugeid vid reuua] widl sdl,

Guzsct Hiell s/ sl seedl ded 87
| (2)%5c 1
(b) &5 2
(c) 1 2l 2
(d) o= Hiall Asuel o8l

‘Which amongst the following State got United Nations Development Programme
(UNDP) Award for 2007 for its Human Development Report using Information
Technology for betterment of citizens?

{a) Madhya Pradesh (b) Chhatisgarh
(¢) Kamataka (d) Punjab

o(lAstt Higll g2l A%UR, ALIRAA Yuustdl 12 S5\ alet 2salclloy ol GUAoL 53] Uota Qs
RWE dauz s2al eled, United Nations Development Programme (UNDP) Wdl§,2007 HOG &7
(a)HE2lUE S|

(b) ee{lole

(c) salzs

(d) Yot

Which one of the following is not included in UNESCO’s Warld heritage [ist?
(a) Hampi Monuments

(b) Brihadisvara Temple, Thanjavur

(¢) Sundarbans National Park

(d) Chilka Lake

- |
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| vﬂﬂﬂtlﬁéﬂ 52] 20 dazslo] [da udls? AEuUl wwda wda «sfle
(b) 42 HIER, Ulwg?

(e} Yerda 2Anglal Ganlet
(d) Rletst d3en

38

In the context of the global economy, which one of the following pairs is not correctly matched?

(a) Merck : Pharmaceuticals
(b) Allianz : Insurance

(c) Prudential plc : Insurance and Banking

(d) Vivendi : Mutual Funds
s wdcuazalell deelul 58 yERA Doz A YARA «sll?
(a)H3 : slulzydlsca
(b)RAcUY : By
(c) YiElac AR : sy wua dl3dal
(d) [daisl : Mzl s

Delhi is surrounded by Harayana on various sides except for which amongst
the follwing side where it borders with Uttar Pradesh?

(a) East

(b) West

(c) North

(d) South

(Beel A slauguell QRN sy 820¢ B udq A oot uigl 56 ciyRell Geizu sl wal
Glaild 87

(a)yd (b) ulEly

(c) Gelz (d) elly

40

Which one of the following passes is not currently opened for trade between China and India?
(a) Shipkila
(b) Nathu La
(c) Jelep La
(d) Lipulekh

ol Aotiuiell sl ee sletil set wR Alet AR Uiz 1B yedl «tell?

(a)ElulBen (b) sllgel

(c) BAU cUO | (d) @Yy
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41

In man the chromosome number is 46. How many chromosomes are present in man's muscle cells?
(a) 23
(b) 46
(c) 69

(d) variable
Yzl 2a1yAlefl dvan ¥s Ala §. yznel ety slllHl 201y Al 2ivau dedll Sl &7
(a)23
(b) ¥&
(c] 5&

(d) uRdadeizllel

42

Which amongst the follwing in Uttarakhand is/are held every twelfih year?
1. Kumbh Mela

2. Manda Devi Raj Yatra

Select the correct Code:

(a) 1 Only

(b) 2 Only

(c) 1 and 2 Both

(d) Neither 1 nor 2

ol et Hiell 5= 5l Gozivis Hi €2 iz ad w2l 8.
1,500
2.oielzcl 2o 25

2l ([dseu ude 52l
(a5 (b) &5cl 2
(e) 1 el 2 | (d) o1 Higll Bsug gl

| 43

What is the basic difference between ultraviolet, visible, and infrared radiation?
(a) half-life
(b) temperature
(c) wavelength
(d) wave velocity
Ulzariolell, a2l wal wivesd ([AEel a2 yual de g 87
(a )R-l
(b) clUHlel
(c) clROlELLD

(d) cd2al dal
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Which of the given components of a chromosome controls the heredity?
(a) Proteins
(b) Histones
(c) DNA

(d) RNA
all Al Hiell 201y ol 520 s wiegclsdia ReBRd 52 87
(a)dlélal
(b) (B22lat
(c) Slaletml
(d) BlalelA

45

Which amongst the following statement is incorrect about the All India Radio?
(a) It was initially called India Broadcasting Service
(b) It was given the name All India Radio in the year 1936

| (¢) It1s also called “Akashwani” from 1957
' (d) From beginning itsclf radio broadcast was owned by the Government.

| ollAetl Hiall 2] ot e SR 2R cAl 2ol ul Wy B2

(a)d glzullcinl sl3au dlssiEal WEH A9 2lould &d.
(b) del 1936 Wi 2llet BB 232D eltd ilucu] e,

(c) del 1957 &l “austatcuell” «it st &l 2RoviaHi w1 B,
(d) aguicdell o 2B cllssize w252 s2ds &d.

46

Out of the given options, which object orbits Earth in both the Earth-centered (geocentric) and Sun-

centered (heliocentric) models of our solar system?

{a) the Moon
(b) The Venus
(c) The Sun
(d) Polaris

AUt [Asediuiell sl wetd 2uue ylHsaml yedloll ye@on yodl-3Rd e ) A y2i-

Blotcd MI3eul 2414 52 B2
(a)a
(b) U5
(c) ¥yl
(d) QR
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47

Which of the following signed on February 14, 1931 brought the Congress on an equal footing with the
Government?

(a) Gandhi-Irwin Pact
(b) Poona Pact
(c) Cripps Pact

(d) Gandhi-Samuel Pact

At migll 58 2l 1% ¥l ae3q ol A as B sPuA w2 dumsa cudl eldl?
(a)alitll — g2t 2R |
(b) Yoil (d
(c) B AR
(d) 2t - Arzpme 8l

| 48

Between which of the following was the ancient town of Takshasila located?
(a) Indus & Jhelum
(b) Jhelum & Chenab
(c) Chenab & Ravi
(d) Ravi & Beas

oflAe Higll 58 at€lallell a2 yillet ootz delllel wdg eq?
(a)lYy sl FcAn
(b) Betd vlel Flotiod
(c) Rt e 2uell
(d) 2tell vl [Hauy

49

Which of the following statements is/are true for a Black Hole?

(a) It is a region of space from which nothing, not even light, can escape.
(b) It is the result of the deformation of spacetime caused by a very compact mass.

(c) Despite its invisible interior, a black hole can be observed through its interaction with other matter.
(d) All of the above

ol AetlHiell 5o/ 5 52l odls Bld HIZ UL 87
(a)al elslotell Bls Bl [Qaciz & 3 waiial 59 o, ustal ual
(Aolaet el atscl «tell.

(b) d ol e o A 5128 wasigaHell [@Agld wnaell desild
uBeuH 9.

(c) dell AicF5 elol wsg Slal Wl 6As Sl wlla acat Ul
Ga-uQBal o 5120 vadlsl asial 8.

(d) GURAscl oLl

r———
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50

During Mahatma Gandhi’s struggle in South Africa, what was the reason behind his campaign against_“

(a) Ex-indentured Indians were not able to pay the high poll tax.
(b) Indian immigrants had to pay a poll tax to enter South Africa.
(c) Indians had to pay a poll tax and register themselves.

(d) A tax was levied on Indians whose marriages were not performed according to Christian rites.
HeleHL ditllell el 2ulsiell dsd exMalet dAuell Det-2a @3t A wne] st2el 9 &dq?
(ajyd sAzoit clzclall G Wet-2a o3l 9 dAH «léldl.

(b) etcla vy cululA @l 2EsHl ydaal W2 Qat-28 eRdl usdl &dl.

(c) ercllallA De-2at ef]l Qe 2AR2ed sal UsSl &l i
(d) e&t, ¥ ARAllA [l Rety i@ @t of sl 8l Auell wdel ayetaHl vuddl.

[ 51

Which of the following is the correct sequence?

(a) Paleolithic-Mesolithic-Neolithic-Iron Age

(b) Mesolithic-Paleolithic-Neolithic-Iron Age

(c) Paleolithic-Iron Age-Mesolithic-Neolithic

(d) Neolithic-Paleolithic-Mesolithic-Iron Age

ol Aot Higll 520 51 WA B?

(3)YRUULNIRL oL — MEAMIMIGL 32U = efeletUiNIR 3ol — Als 2oL
(b) HE2UIHIGL oL — YU 2L - ofcleiul™lEl oL — Clle 2ol
() YRoursgL oL = clld Yol — HEAUMIBL 2491 — ool UldIel 2431

(d) ofetelll®Il 2oL — YLuisiel 2ol = Heauiulgl 2o clls 2oL

52

Which of these statements is false?
(a) A state having a population not exceeding 20 lakhs may not constitute Panchayats at the
intermediate level.

(b) The formation of a Panchayat depends on the will of the corresponding State government.

(¢) A person can be disqualified for being a member of Panchayat if he is disqualified under a law
made by the State legislature.

(d) The state legislature can authorize a Panchayat to collect duties and tolls.
Al Aoimigll s 52l WHR B2

(a) 2% ¥ ol cdacl 20 cwell ay s Slal A Hrae xd? yaadell 2ausi 53 sisdt ol
(b) Hllacloll UL B o A% AR5l 25l U Wl B,

(c) eals duidoll ¥ead dly Jeias 69l o B o A Ae@Quleld)s sl delde szl
WflR cuAS &2.

(d) 2% [Quetos Yataida 52 wa dl Quddl uEsd 59 g D,
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53 | The theme of World Population Day 2010, was:
(a) Everyday counts (b) Everyone Counts
(c) Control Population (d) People count
(Aal wetrivan [Ram,2010 ofl yuat lm g &cl?
(a)eds Rax oLl (b) €25 callsel aURLcll
(c) setalvall [Aeixelo (d) usstell atgtell
%4 | Match List-I(Traveller) with List-11(Kings) and select the correct answer using the codes given below
the list:
List-1 List-TI
A. Fa-Hein 1. Harsha
B. Huen-Tsang 2. Chandragupta II
C. Megasthanese 3. Chandragupta Maurya
Code:
A B S
(a) 2 1 3
(b) 1 3 2
© 1 2 3
(dy 2 3 1
YR A YRz wd Y@ 53,
HR-1(2u=) Y-z (A1)
A5t 1.6 |
; B.& Vet Mol 2.2m9) wet-oflol
| C. N3l 3.20s0) . 1l
A B C
(a) 2 1 3
(b) 1 3 2
(c) 1 2 3
(d) 2 3 1
55 | Which of the following statements is NOT true with regard to Project Tiger?

(a) The landmark report, “Status of the Tigers, Co-predators, and Prey in India”, published by the
National Tiger Conservation Authority, estimates only 1411 adult tigers in existence in India,

(b) Project Tiger was launched in 1973 in Palamau tiger reserve, and various tiger reserves were
created in the country based on a 'core-buffer' strategy.

(c) The “core” area provides a habitat for wild animals and provides ecodevelopmental inputs to
support surrounding villages.

(d) Manas, Bandipur, Kanha and Periyar are all Tiger Reserves and are govemned by Project Tiger.
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QRsz elealzall Healu] «lAsiiuiel sl 5elel Wl B7?

{a]IEL“GEaEL cllel Mzal vlelF1Z] < ellelsllal a2 status of the Tigers, Co-predators, and Prey in India”,
a2 MRcHL $5cl 1411 Yool cltl wRA Uzl B

(b) Ul¥se 2lealz UGG altl wellHd Al 197310 wHEHL el 1 @lzele Bl [Aldu
cllel voliiel 8o #8512 wWgR” 2utell[d wejr catiaeunl el

(e 827 [Qzcll? dozl Ylafladlel iald Y3 Wl & el WIRWMAL JUHsiIA Halal 52l
IREAAs (A sl potd Yt wd 8.

(d)Hletal, ollélyz2, slesl wa B2z dltl vlelHd A B val Azl U5z alsoR e [[UBd 8.

56 | Consider the following statements:
1. The Padmabhushan award stands second in the hierarchy of eivilian honors.
2. Aruna Awards in India were introduced by the Government of India for recognising the
exceptional accomplishments of the plavers in National sports.
Which of the statemenl/s given above is/are correct?
(a) 1 Only
(b) 2 Only
(¢) Both 1 & 2
(d) Neither 1 nor 2
sll el citsell dull.
(a)UaleuEl YRz A slolRs UeHlotoll e%wHl [Bcdla 8.
(b} GURAHL oA Y2512 g2 2] Wedledl o saiaze @ER ([CReldal
Hizel H2507 aol<l 213 HClHL vdlcal] &dl.
Gulsct Higll se/sul sasll Ul 870 (a)§5c 10 (b) 5l 20 (c) 1 &l 20
| (d) o Hill Asugl «AEl .
57 |Which of the following is correct with respect to Harappan Civilization?

(1) The remarkable thing about the arrangement of the houses in the cities is tha they followed the
arid system.

(2) The Indus people were not the earliest people to produce cotton.

(3) The inhabitants of the Indus region worshipped gods in the form of trees,animals and human
beings and the gods were placed m temples.

(4) The Harappans were great experts in the use of the potter’s wheel.

Code:

(a) 1,2 and 3

(b) 2 and 4

(¢) 1 and 3

(d) 1 and 4
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sl zsla (Al ollAol Hiell 53 s ul B7?
1. et 1l wlell slsaell enollerz 2ucll vz NsclAell sdl ® s alus{la clleid 8.

2. Ry "eadl «it A5l sl of Geuleel salHl M yaH oAsldl.
3. Ry @Qaciz ol 22c{lx0l gail, yiellall wal Hejrellell 821230 yost 52l cll wel Arleil B2

U221 i el sl .
4. 55wl #es(d ol Bl feuRell Asst oll GUILIL s2lHL Wel S0 el

(a) 1,2 3
(b) 2 el 4
(c)1 sl 3

(d) 1 uial 4

53

| Which of the following ports does not lie on the West Coast of India?

(a) Jawaharlal Nehru Port Trust

(b) Marmagao

(¢) Kandla

(d) Tuticorin |
AlAetnigll 53 ole? ezl WEH Bz 2ide ell?

(a)clloRcllel o133 Uld g2

(b) HiHou}

(c) BSE

(d) dcllsllat

Consider the following pairs:

1. United Nations Framework Convention on Climate Change (UNFCCC) - greenhouse gas

emission limits
2. Cartagena Protocol - global warming

3. Kyoto Protocol - greenhouse gas emission limits

Which of the above pairs is/are correctly matched?

(a) 3 Only
(b) 1 & 2 Only
(c) 1 & 3 Only

(d) 2 & 3 Only
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e

(Aol YR cwdl,

1. Yollehes aglet FHAS 5cedlol el scll8R2 Aow(UNFCCC) - latalG clzloll Geodot 2llut

2. sl2well Wl2lslel - d@s dluntal Wi glER(acllue dlblat)
3. wildl dalslet - flstGuy awll Gatedt Al

GuRsct Hiell 58 YRR Do dad yAEd &2

a)55cd 1

b) 5l 1 wisl 2

) 85cl 1 A 3

d) §5cl 2 4 3

B

(
(
(
(

E0

= =

Consider the following statemenits.

(1) The Ikshvaku rulers of Southern India were antagonistic towards Buddhism.

(2) The Pala rulers of Eastern India were patrons of Buddhism.
Which of the statements given above is/are correct?

(a) 1 only

(b} 2 only

(¢) Both 1 &2

(d) Neither 1 nor 2

oAl dlsell dull,

1. eAnletzd ol sacly Al og wrlot QA sdl.
2. Ydetl Wel Aol og UHoll BUSRAELAL &l

alsel ([dscy ure 53l
(a}s8e 1

(b) $5d 2
(c) 1 deall 2

(d) oA uigll Asuel o8l

61

Which port was named as India’s 13" ma{_j.-mr port?

(a) Port Blair

(b) New Mangalore
(¢) Kochi

(d) Vishakapatnam

ellRcle] 13y yuay olg? 53 &7
(a)dl2 oA

(b) o2 HoelR

(c) SR

(d) [Dawiugaiy
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a2

Genctic modification has been applied to which of the following crops?
(a) Brinjal (b) Cotton

(c) Soyabean (d) All of the above
woflot auEllal 32512 ol Aen Hiell s Uls Gur spcul A B?

(a)Zlate (b) UM

(c) Haulela (d) BuRlsd el

In the year 1613, where was the English East India Company given permission lo set up a
factory(trading post)?

(a) Banglore

(b) Madras

() Masulipattam

(d) Surat

8.4, 1613 Hi 8A o2 8l sudllal sl ¥sedl(Quwz Has) wuudlsl uzaledll el wiell?
(a)oloclz
(b) Ml
(c) Hycllugaiy
(d) YRl

bd

Consider these hill ranges :

A. Garo, Khasi, Jaintia and Naga Hills run in an almost east-west direction.

B. Mizo and Rkhine Hills run in an almost north-south direction.

Which of the above statements is/are correct?

(a) A Only

(b) B Only

(¢) Both A & B

(d)} Neither A nor B

ol Aol Udctrtonall uz @R 53,

A, olRLu A2 e sttol uddl Alaieud) yd-uBly R uaden .
B. (Mol wal 20t uddl Hlatetdl Griz-c@o Rauui yudal B,
GuzlsciHiell s/ sl saadl vt B7

(a) §5 A

(b) §5ci B

(c) Ausl B

(d) o Higll As ue AGB

_
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Which of the following is NOT a member of the BASIC countries?

| 65
(a) South Africa (b) Argentina
(c) Brazil (d) India
ol detl Higll 52l Eal GRS Ellell Heal «12ll?
(a)el2al 2ulgst (b) %Toeail
(c) el (d) @URd
66 | Match the following.
List-1 List-II
A. Kandarya Mahadeo Temple 1. Bhuvaneshwar
B. Lingaraja Temple 2. Konark
C. Sun Temple 3. Khajuraho
D. Jagannath Temple 4. Puri
Code: '
A B C D
(a) 3 1 2 )
(b) 1 2 3 4
(c) 4 3 1 2
(d)y 2 1 4 3
YR A YRz W yAldd s
Y[E-1 yRE-2
A. se2] usiia e 1. Gl
8. [dotzley HlE= 2. sloud
c.yad Mz 31218
D.2w2tzel g 4. y3|
A B C D '
fay 3 1 2 =
b)) 1 2 3 4
(c)y 4 3 1 2
(3) 2 1 4 3
67 | The state of Tripura extends between approximately 22°56'N and 24°32'N latitude. Which other state

lies closest to these latitudes?

(a) Mizoram (b) Nagaland

(c) Meghalaya (d) Manipur

Biyzt A%l coteol 22°56'G and 24°32'G vetiglell 2@ wda 8,0l 5y w2l 24l waisllell Alell
dt «i%s lde &7

(a) BlAlzu (b) «lloU oS

(c) Hulet (d) HBlyz
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68 | Match List I with List 11 and select the correct answer using the code given below the lists:
List-I{People/Heads) List-II{Organisation)
A. Dr. RK Pachauri 1.Greenpeace
B. Dr. Ajay Mathur 2. Central Pollution Control Board
C. 5.P.Gautam 3. Intergovernmental Panel On Climage Change
D. Kumi Naidu 4, Bureau of Energy Efficiency(BEE)
A B C D
(&) 4 1 2 3
(by 2 4 3 1
(€) 3 4 2 1
(d) 3 2 1 4
YR A YRz WA YRR s3L
YA-1(calser/vikaa) Y(2l-2 (R
ASL BlR. &, Ul 1.3let
B.SL. wlwal MY 2 boalal el [Haise ol§
cala dloldn 3.8023 dlcloHact Uotel el scllene Asy
D.5Hl «ltalg a.0242| s Mol A6 20 (EE)
A B C D
(a) 4 1 2 3
(b) 2 4 3 1
(<) 3 4 2 1
(d 3 2 1 4
69 During which campaign Amir Khusro accompanied Alauddin Khalji and had given a vivid description

of Jauhar ceremony?

(2)Gujarat (b) Ranthambhor e} Udaipur (d) Chittor

gell AalHHl MR WaRldl  wedlBde Meal desiz 2l odl wa “Fler QR wlelged
(Rletz w2 &dl?

(a)o]%2lct EEBIAE () GEUR (d) RS

—
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70 | The Prime Meridian passes through all of the following except:
(&) Spain (b) Nigeria (¢) Togo (d) Ghana |
quel 2l dd (Rl Rlauat sl otsiell vz wa 87
(a)rlat (b) et (c) 2lall (d) €lell
71 | The Directive Principles have been made non-justiciable for all these reasons, except:
(a) Making the principles justiciable would severely hamper the working of the Legislature and the
Executive.
(b) India’s diversity would make implementation of these principles impractical.
(c) India did not have enough money to implement these principles.
(d) The framers of the Constitution wanted to give the Indian State freedom in terms of the time, place
and manner of implementing them.
atege{l et Mlesls Reuidl (Al ot stReluz [@Aet-elaiuist 8, dHiell Huclesy 52 &7
(a)RAraidla elanu ostiaciell tiisla wel siRleulsl siuallul And vidze Ged al. |
| (b) etrclell QAU 24l Redicdletl -5 (Qet-calaslz waladl.
(c) ol WA vl Rrelicdloll vHellszet W2 vald det «sll,
(d) olaurilell usdauall eldlal Az M2 N wa dHal @] sclloll Uttl(dedl 3um
| 2cled Al vuel HIdLAL &l
72 | Among the following, who was not a proponent of Bhakti cult?
(a) Tvagraja (b) Tukaram (c) Nagarjuna (d) Vallabhacharya
ol Aot Higdl 5l Mlstuaus il AUHEs oA8ldl?
(a)RUOIRLY (b)d51RH (c) ollalagel (d) ceceail
73 | Match List I and List 11 and select the correct answer using the code given below the lists:
List-1 List-II
A.Bhajans 1. South
B.Keertanas 2. North
C.Abhangas 3. Bengal
D, Thirumurai 4, Maharashtra
A B L D
(a) 1 ) 3 4
(b) 2 3 4 1
(c) 3 a4 1 2
(d) 4 1 2 3
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|
|
|
1
|

e

74 | A State Information Commissioner can be removed by the Governor, under all these circumstances

4@-1 oL y@-2 wd YR 52,

(21 y[Rl-2
A G 1.6(8laL
8. Sldat 2.6z
C. weial 3.0ia1m
D. By 4.3
A B & D
(a) 1 2 3 4
b 2 3 4 ]
@ 3 4 ! 2
(dy 4 1 2 3

| excepl:

(a) If the Commissioner i1s adjudged an insolvent.
(b) If the Governor feels that he is physically incapable of conducting his duties in that post.
(c) If he has acquired a financial interest that can prejudicially affect his official duties.

(d) I'he engages during his term of office in any employment outside the duties of his office.

A% A HIBA 5B A atatel? il Aot wtll UBERR2AN ueare 53] aslel B, B

WULEIY 52 &7

(a)%l s[MHR oUlelR YrellR 2l

(b) %l dlcel? Ag Bajeld 3 A ddloll UE Urell 5% olostalal dsH o2l

(c) %l dal Bl aiglisla 24 3ol lat 3 R2ll doll wESRSs 52961 U2 slblslas wMR ud.
(d) %l & doll 525100 £ Aol 2U[@A51RES 5261 [@cllal voel AowaUHL calel Slal.

/5

For the first time, which sultan of Delhi Sultanate introduced the Token currency?

(a) Alauddin Khalj

(b) Muhammad bin Tughlug
(c) Khizr Khan

(d) Nasiruddin Mahmud

(el dertoldett sl Yeicdial Al yaH Aset AR Wrdlldd 5217
(a)uccllGealst ey (b) 4&E (Blsl deictmD
(c) oy ulleln (d) si@zElat HSUE
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Which of the following is/are true for heavy water?

I. Heavy water is water that is highly enriched in deuterium.
2. Pure heavy water is not radioactive.

3. The density of pure heavy water is lesser than the density of pure water.

(a) 2 Only
(b) 2 &3
(c) 1 &3
(d) 1 &2

o{lAotiniell 5o/l set et? well QA det B?
etz well A syeRaxel vo dye well 3.
2.9t el well @ERuesd ol
3.9l e Wellell eotel A gu wiellell vl 5241 20l dla B,
() &5d 2
(b) 2 vlal 3
(c) 1 wal 3
(d) 1 ulel 2

| 77

Consider the following statements:

formal process for the same.

! 2. In Maharashtra, a former minister is included in the purview of a Lokayukta.
Which of the statements given above is/are [alse?

(a) 1 Only

(b) 2 Only
(¢)Both 1 & 2

(d) WNeither I nor 2

ol Aot saell duil,
L cllsulet ofl duld e stlasl ndz wa wlluals A2 adl s,
2, HalRUgHL ¢dyd dollal dlslysdeatt seldsul claaidi wicel &,
Buzlsd Hiell s /s saoll Wl 87
(a)§5cl 1
(b) $5c 2
(c) 1 clall 2
(d) ol digll vlsuel «t8]

1. The investigations and proceedings of a Lokpal have to be conducted publicly and there is a

A=
fo
e
]
[
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Which of the following is/are a Preventive Detention Law(s) made by Parliament?
1. Conservation of Foreign Exchange and Prevention of Smuggling Activities Act (COFEPOSA),
1974,

2. Prevention of Blackmarketing and Maintenance of Supplies of Essential Commeodities Act
(PBMSECA), 1980,

The Child Labour (Prohibition and Regulation) Act, 1986.

4. Prevention of Illicit Traffic in Narcotic Drugs and Psychotropic Substance Act (PITNDPSA) |
Act,1988

[

(a) 2 only

(b) 3 & 4 only
(¢) 1,2 & 4 only
(d) 1,2,3 & 4

ol Aotl Hiell /52l HAUE 121 ottt [Aleurs (A slRLEYSIRIEL) ©7
1.5 elet ¥lls SlRet AsuAey s [ datet g 20101 A2 (A2] S1AE(COFEPOSA),1974.

2. Qdalet vils oAs HEoL Bs Ad2n vlls Welsy vlls AadElae s0AEEM sI2UELPBMSECA),
1980.

| 3.0 wses dor (Yllelelsiet s 23zjAalel )5L21EL1986

4. [Ndatet 25 @R 2UEs 8 «15Els 5a1 Ws WaASZMs dezéy 5121EL(PITNDPSA), 1988
(a)s5cl 2 |
(b) 55cl 3 Ual 4
(c) &&cl 1, 2 ol 4
(d) 1,2,3 w4

| Krebs cycle or citric acid ¢ycle is of central importance in all living cells that use oxygen as part of
cellular respiration. State the organelle of the cell in which the Krebs cycle takes place.

(a) Nucleus

(b) Ribosome

(¢) Mitochondria
(d) Golgi-bodies

soul ulda weadl msdls dls uldan 4l siuflar saetul vEuesst o Guellol s2dl olul %l(ds
L sIHlHL BleBal Hecdoll S.5lnell 52U alatHl oy ulsal ezl &2
(a)slti 5o
(b) (Belliln
(c) sRuelyA

(d) alcallsia
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Consider the following statements:

(1)Vedanta Resources is India’s largest mining and non-ferrous metals company.
(2)Vedanta Resources owns and has management control over Konkola Copper Mines in Zambia.

Which of the statements given above is/are correct?
(a) 1 Only
(b) 2 Only
(c) Both 1 & 2
(d) Neither 1 nor 2

(1Al 5ol Al
1.Aeldl Aazla anrdsll Al DA A Blot-clleasd wellwlell susdl 8.
2 Al Adllla pillausl sletslal dictedl wieHl Wdiell HUAS wal et [eiael uald 8.
GuUAsd uiell s/ s sual Ul 87
(a)58c 1
(b) &5cl 2
) 1 dal 2
(d) otz Ml Asual &l

meritorious students, Which of the following statements is true in context of this scheme?

The Ministry of Human Resource Development along with the Indian Banks Association has
formulated an educational loan scheme to provide financial support from the banking system to

(a) The scheme can be adopted by all banks.

(b) It is applicable only for studies in all recognised Technical/Professional courses.

(¢) The Moratorium period on this loan will be the course period plus one year or six months after
getting the job, whichever 1s later.

(d) The benefits of this scheme extend to students whose gross family income does not exceed Rs.
4.5 lakhs per vear from all sources.

Mlolcl Hatitot [@sia Hale ua 8lRas ds AEA ol Aysd GUsH IQlctl Ylddl
@enslall W2 cifla ustzt Y3l wsal w2 dBal Rz g2t dal@s clat Aol sleitaatHi wdl
& il elewellotl deolul oflAot uisll =il 52t URL 87

()il 2lexodl eiell oll g1zl 2ellsizl 8.

(b) A g5l Hydl WA 25[E5c/ dl¥aloicl HeEMEH HIZ % Guee B,

(c) 2L Glol 12 Bl 1lsdl ol Hed weamsuell Hed Gurid As ad wacl «ls3l Hewlel 6
Ul ugdl, ol Hiell & AlS Alal d 234

(d) 2l Aegetiotl cliel Ael Benel=A yull Badizai 20l 3wl sa slglds alds wids
ol Bl Hollal 45604 8l ay oL sla
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Consider the following statements:

1. GAIL (India) Limited, was previously known as Gas Authority of India Lid.
2. GAILTEL is the telecom subsidiary of GAIL (India) Limited.

Which of the statements given above is/are correct?

(a) 1 Only

(b) 2 Only

(c) Both 1 & 2

(d) Neither 1 nor 2

ofl el sl UL
19l (BBl [@ARMEs, udel S AWARE s R EAR2se snell wloavidl sdl.
2.0lced W Jleydlan) [@AM2ssl 2Es\y Halas &,

GuRlscinisll s/ sl sl Uzl B7

EVEEII

(b) &5l 2

(c) 1 clau 2

(d) e uigll Bsuel o8]

B3 |

To which state do the popular Madhubani paintings b::funé‘?

(a) Orissa (b) Bihar (c) Uttarakhand (d} West Bengal

yulld Hyosl [Eascl sal 2092 Wl deld 87

(a)ullFu (b) [ez (c) Grilvis (d) ulElH oloum
84 | Consider the I’n]'l-uwing pairs.

Persons Sports
1. Dola Banerjce Badminton
2. Mohd. Ali Qamar Boxing
3. Ashwini Ponnappa Archery

Which of the pairs given above isfare correctly match?

(a) 2 & 3 only
(b) 1 & 3 only
(c) 2 only

(d) 1,2 & 3
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of| el oglssinll Al
c2{(5ey
1. sletl Glotos]

2. HleHe well sHyz
3. wEl detun

Gur Higll = /sl ssi Ao A Asidd B?
(c) §&d 2 (d) 1,2 el 3

(2)%5ct 2 Bl 3 (b) &5 1 2l 3

2xd
asMesd

53l
A2 el

85 | Which of the fﬂﬂﬂwin_gm 18 not a member of the European Union?
(a) Cyprus (b) Malta (¢) Switzerland (d) Latvia
s{lAstini all sall Ea yaiet Yflastoll Meat atll?
(a)Hlay (b) Hlc2L (¢) RAzMRAS (d) cul2al
86 | “The Sean MacBride Peace Prize’ for outstanding work for peace, disarmament and/or human rights,
15 awarded by which organization?
(a) Peace Brigades International (b) World Peace Union
(¢) International Peace Bureau (d) Asian Peace Organisation
“o llet Asenss Y wsn” @, arllsel uUa uad Hidau@siz e Gore sl Wee 58
Mrellal vluclHl vl 87
(a)ulat [ololsy B2radalstiet (b} =ed Ul yldas
(c) B2ralatetel Ul 3yfslatet (d) BlElaiet Iy 2030t e Hatet
87 | Match List T with List 1 and sclect the correct answer using the code given below:

List-1 (Book)
AL The Cost of Living
B. One Amazmng Thing
C. Two Lives
D. The Moor's Last Sigh
A B C D]

(a) 3 2 1 4

i
S
b
I

(b)

€ 1 3

b
%

List-II{ Author)
1. Chitra Banerjee Divakaruni

2. Vikram Sheth

L%

. Arundhat1 Roy

4. Salman Rushdie

=]
I
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Y1 A YR-2 w8 yaldd s

YR-1(yweis) Y[-2(cAwns)
A Sl Al [@ldal 1. REla dletwl Elanszsll
B. clet 2Bl &flal 2. [dsu a5
C. 2 s 3, wWiudl A2
D. H Y3 G2 W 4. ¥EMLet 293¢l

(b) 3 1 2 4

{c) 1 3 z 4

(<) 4 2 3 1

What rank does India occupy in GDP terms when measured by the purchasing power parity (PPP)
| method?

| (a) Eleventh
(b) Fourth
(¢) Twenty Scventh
(d) Tenth
wWdle aF AUt Ueuld YHdl Hiudl AsE 96 Geulest AealHl elRd 520 54 YR B7
(a)uflanzHl
(b) Ul
(c) ALl

(d) £xHl

The territorial dispute over the regions of Sool, Cayn (Ayn) and Sanaag, took place between which two
macro regions of Somalia?

(a) Gedo & Somaliland (b) Mogadishu & Borama
(¢) Puntland & Berbera (d) Puntland & Somaliland

Y, ellot(et) ol Mool AAAl YIE(Es (date AHARUAL 5l A ojpe AAHL Werll &cll?
' (a)3ls] ua AHEAS (b) Hlowle gl el cllHL
(c) dadls sl czlolzl (d) yeds ual WHldds
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Which of the following isfare an effect of climate change?

1. El Nino/seasons
Rise in sea level

Rise in Earth’s average temperature

B L

Melting glaciers

(a) 1 & 3 only
(b) 3 & 4 only
(c) 2,3 & 4 only
(d) 2 & 3 only

ofl Aol Hiell 5o /52l vicllgct uRddatedll waz &2
1. el ofledl /gl
2. dyae(l quldl 1l awl

3. yzclail ¥22A9 diudistul gl
4, [BuaEl2l of vilalang,

(a)g5cl 1 vial 3

(b) §5ci 3 wlot 4

(c) §5ci 2,3 2ol 4

(d) $5cl 2 w4l 3

Who among the following cannot be an administrator of a Union Territory?

(a) The Governor of a state that adjoins the Union Terntory.

(b} A Lieutenant Governor appointed by the President of India.
(¢) An Administrator appointed by the President of India.

(d) The Chief Minister of a state that adjoins the Union Territory.

oll 2ol Higl 5lol Fesal@d Utslel adlazsdl ool sisdl «tall?
(a)5onallRd yiael wlside Awlell oleeiR
(b) ellzdell 2puldal [[Angs s3d Aseoies Jldsl2
(c) elRcdeil 2rguld=l [Anes s3c aélaesdl
(d) BoaallRld il side Aweiel Yuaid]

92

Which soil type is most suitable for cultivating cotton?
(a) Red Soil

(b) Black Soil
(c) Laterite Soil

(d) Alkaline 5oil
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gl UslRell orllot suldall Geuteot w2 Wlell uojsn B2

(a)clet wdleln (b) sloll srletn (c) A2zse wxlsin

(d) eudla wlls

93

Which of the following statements is/are true with regard to the Kyoto Protocol?

I. It sets binding targets for developed nations to reduce greenhouse gas{GHG) emissions.

2. It was adopted in Kyoto, Japan, on 11 December 1997,

3. It came into force on 16 February 2005,

(a) only 1

(b) 1 & 2 only
(c) 1 & 3 only
(d) 1,2 & 3

oAldetl Higll 53,5l 580t 52 VA ol wealu] et B2
L. [QsRd 24l Uz oflol 616U AY of Gtol Hatsall vltiolsdl cleais osdl 55 .
2ol 11 (3R0012,1997M1 sl wutet ui 2ellstz aul wicall

| 3.del 16 3ogugl, 20052l @ia] sRaMl L,

(a)55cl 1
(b) 85d 1 W 2
() §5c 1 wal 3

(d)1,2 2=l 3

Consider the following pairs.

International Conference

1. Earth Summit, 1992
2. Climate & Forest Conference, 2010

3. Taraway Climate Change Conference,2010

Which of the above pairs is/are matched correct]y?
(a) 1 Only
(b) 2 & 3 Only
(c) 1 & 2 Only
(d) 1,2 &3

Location

Rio de Janeiro
Oslo
Kiribati
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ofl el YR dAul.
didzzindlzal i 28l o
1. yeell ARt 1992 3lail-gl-sga121
2. vllellgal wel ol ANELe, 2010 allaedl

3. dizld vollect URdde dRdet 2010 Bileud

Guzlsd digdl o YR/ YRR Ul B7
(a)g5c 1

(b} $5cl 2 vl 3

(c) 85cl 1 Ua 2

(d} 1,2 sl 3

85

p————

Which of these staiements is/are false?

1. The Planning minister and the HRD minister are ex-officio members of the Planning
Commission.

2. The members of the Planning Commission enjoy the rank of a minister of state,
3. The Deputy Chairman of the Planning Commission can vote in Cabinet meetings.

4. The Planning Comumission is a constitutional body.
(a) 2 & 4 Only
(b) 1 Only
(c) 1,3 & 4 Only

(d) 3 Only

ol Astl Hiell 5/ 5l su-l vuRL B?

1, 2ol HaAl wel Hisld Aaluet Holl Slatell 381 oo auelloled Heat dlat &,
2. 2llogell wzlotel deall 2%l seiledl Hallell L8l ellatel &,

3. 2loroil wilatell sl veae 3oz ARl ud sl o3 8. |
4, 2logatl v2oL oitzellal dea &,
a)55cl 2 el 4

b) &5 1

c) $5cl 1, 2 wal 4

(
(
(
(d) $5ci 3
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How does carbon trading help?

(a) Entities that manage forest land can sell carbon credits to emitters,

(¢) Large nations can sell carbon credits to smaller nations.

(d) Emitters of Green House Gases can go scol free.
stolel AUR 58 flA Heesdl B
(a)clei@)Ale] Acttlel sl el Gtdasdlall A siolet 3Rz Azl a1sdl,
(b)Hlel Gallol oall elloil ol stolat BR2 A0l asdl.
(c) Hlat AL slloll 202 stolat 3B2 A2l ausil.
(d) Aot BLGU N2loll Gtofotscllall A A U ASd Bl A,

| 97

Consider the following statements:

1. Melting of Arctic ice is caused by carbon dioxide emissions from burning fossil fuels.

2. The volume - extent and thickness - of ice lefl in the Arctic is at an extremely low level.
Which of the above statements is/are true?

(a) 1 Only

(b) Z Only

(c) Both 1 & 2

(d) Neither 1 nor 2
o{lAotl soeAl AW

1ulk2s ozy [Dainelle] 5201 Wald HoldLledl €601 51200 Gatodel UHAL slelel siellsalliss
&,

2. 0BR5ul AN BEAL 1259 5E-[QRcR UA AL Yol Bist 2D B,
GuRlsciell si/ gl susdl et 872
(a)§5cl 1
(b) &5cl 2
(e) 1 da 2
(0) o1 uigll Asugl Al

98

Who among the following is not an ex-officio member of the National Human Ri ght Commission?
(a) Chairman of the National Commission for SCs.

(b) Chairman of the National Commission for women.,

(c) Chairman of the National Commission for minoritics.

(d) Chairman of the National Commission for Backward Classes.
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(a)aledlel wlayEld wild dal ol wals
(b) 2Usdlal HEe vuelalell vlkalat

(c) 20edlat agudl sualotel vitalal

(d) 2ixdlal st aol alellolell 2 tey

Aol Hiell Aet 2dlal Hista 2R wiElotetl Aslell 33 e «tell?

99

(a) National Mission for Sustainable Agriculture

(b) National Mission for Space Research

(d) National Solar Mission

(lAettrl &l 58 Malet napccHl slE2u «12ll?
(a)alaleiet ot 512 uRAue Wallscuz
(b) AAstelct (Mot 5z 2a
(c) Adletel Aglet 82 Aeslals Botod] Aldeaiall
(d) lgletet Al Mt

C

)
)
)
)

(c) National Mission on Enhanced Energy Efficiency

In June 2008, The Prime Minister of India released the National Action Plan on Chmate Change
(NAPCC) to outline a national strategy to meet the challenge of Climate Change,
Which of the following is NOT a core mission in the NAPCC?

e, 2008 HL el cell asiyutiial wiellsal uRddstal ussizal Ul andl alglelel W59l \elled 2ol
scellesfe Ass(Narce) oL elaizl idlal Retedlld 29 53,

100

All of the Fﬂ!Emﬁug are Kharif crops, except:
(a) Rice
(b) Cotton
(c) Wheat
(d) Groundnut

oflAatHisll s Baa Wils ws 87
(a2l
(b) sULH
(c) ©@
(d) Hotsull
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